o 0.2p @ r 0.6S
[ E ©0.11 a
S0.18F =y E ]
04 16E- 3 014 0.5
§0.16: § 3 5
E 0.09 4 =
Q - (0] e
%0.14: E ' .40
Lo0.12F L0.08 i
0.1 0.07 3 J' 0.3
0.08F 0.06 ”
E E o= 0.2
0.06 0.05 4 e
E ] o
0A04:— 0.04 _; . Lt 0.1
0.02 : 0.03 _E
o +W) T T T T T T
k= 0.006 0.008 0.01 0.012 0.014 0.016
8 Efficiency
1H
0.95

0.006 0.008 0.01 0.012 0.014 0.016
Efficiency vs. cut on dz(PV)

—=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO

—— DQM_V0001_R000000001__Global__mKkFitOLD-checkDet__RECO




	Contents
	Page 1


